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for(i=1;1<=n; i++){
j=n; x=0;
while (j >=1){
for (k = 1; k <= 100; k++)

X++;
j=i/2; }
}
T (n)eOn? ¥ T (n)e Qn?*) ¥ T (n)eO(logn) -¥ T (n)e 6(n)

fans oo plnil ) az 0, 5N LT 29995 €550 (59 0 p) (iS5 b =¥
int count(node * t){
if (t==NULL) return O;
if (t —»right == NULL && t—left == NULL) return 1;
return count(t—right ) + count(t—left );

}
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int test (int n){

if (n<=3)
return (1);
else
return (2% (n-3)+ test(n-3)/ test(n-3)) }
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int bin (int n , int k) {

if (k==0 Il k==n)
return 1;
else

return bin(n-1, k-1) + bin(n-1, k); }
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